ggd

ud gd ud ud ooooobod
1 = ggd E 200,000
2 = ggd E 75,000
T3 = ggd E 45,000
T3 = ggd E 45,000
) = goo E 31,333
T6 = goono E 27,500
T6 = ggd E 27,500
T8 = ggd E 25,500
T8 = g E 25,500
T10 = ggd E 23,000
T10 = ggd E 23,000
T10 = ggd E 23,000
T13 = ggd E 18,166
T13 = ggd E 18,166
T13 = ggd E 18,166
T13 = ggd E 18,166
T13 = ggd E 18,166
T13 = ggd E 18,166
T13 = ggd E 18,166
T13 = ggd E 18,166
T21 = ggd E 14,750
T21 = ggd E 14,750
T21 = ggd E 14,750
T21 = ggd E 14,750
T25 = ggd E 13,175
T25 = ggd E 13,175
T25 = ggd E 13,175
T28 = ggd E 11,700
T28 = ggd E 11,700
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T28

T28

T28

T28

T28

T28

T28

T28

goo

goo

goo

goo

goo

goo

goo

goo

11,700
11,700
11,700
11,700
11,700
11,700
11,700

11,700
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